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1 Pemwnth cuctemy ypaBHeHuii metogoMm l'aycca

1.1 Cucremy ypaBuennii 4*3

5x¢ 4+ 521 + (—10)aze =5
8xg + 6x1 + (—4)z2 = —9
lzg 4+ 221 + 529 = 3
(=8)xg + 71 + 1laa =1

3zo + (— 1)y + 322 =3
(—6)(E0 + (—9).7}2 =6

8xrg +3x1 +4x0 = —1

Txo+ (—3)x1 + (—8)zy = —1

(=3)xog + (—6)x1 + (—=T)z2 = —10
209 +2x1 + 422 =9

(=5)zo + (—10)z1 + (—1)z2 = —6
6x0 + (—4)z1 + (—4)z2 = -2

leg 4+ 221 + 12 =7
3xg + 221 + 4z0 = —3
5xg + dx1 + 62 =6
lzg 4+ (=5)xy + lag =8




10.

11.

12.

(=10)z0 + (=8)z1 + (—2)a2 =
(=9zo + (—10)z1 + (=722 =
(—4)zog 4+ 321 + 1z = —1
8xo + (—4)x1 + dxe = —4

5x¢ 4+ (—10)zy = —10
(=Dzg+ 222 =5

dxg + 4dx1 + 420 = —10

3z + (—6)z1 + (—=T)z2 =2

(=d)zo + (—D)x; + (—8)z2 = —1
(=Nzo + (—10)z2 = —9

(=6)xg + (—8)x1 + 622 =9

8rg +4x1 + 315 =7

S5xg +4x1 + 30 =1
2r1 + (—3)1}2 = -8
(—9)1‘1 + 925 =0
(—8)xg + 8x1 + 229 =2

log + (—4)x1 + (=T)az =1
4xg + Sro = 3

lxg + (—4)z2 =6

(=2)xzo + (—10)z1 = =5

lzg + (—8)x1 + (—6)x2 = 8
9xg + 8x1 = —10

Txo 4+ (=9xz1 + (=T)zg = =2
(=2)zg + 921 = —10

dxg + 61 + 429 =4

(=2)xg 4+ 321 + 322 = —1
(=7)xo + 621 + Txe = -3
(—4)zo + (—10)z1 + 322 = —4

log 4+ (—8)xy + lag =3
(—4)zo + 621 + (—1)z0 =2
(=6)xo 4+ Tx1 + (—2)x2 =7
dxg + 221+ 815 =7



13.

14.

15.

16.

17.

18.

19.

20.

8xo + (—=T)x1 + (—5)z2 =9
(—2)xo + (—4)x1 + (—6)z2 =8
leg + 1z + 429 = —9

(=5)xg + (—8)x1 = —3

leg 4+ 121 + (=3)z0 =7
(=3)xo + 121 + baxs = —9
Txog+ ley + (=9)ze =7

8xo + (=5)x1 + (—6)zy = —8

lzg 4+ (=3)xy =

(=Dzo + (=3)z1 ( ) x2 =T
(=8)zo + (—4)z1

(—6)z0 + (— 4)951 + 9:L‘2 -1

2z9 + (—6)z1 + (—6)z2 =8
6x1 + (—1)ze = =7

lxg +3x1 + 620 =7

(=3)xo + (=5)x1 + b2 = —2

8xg + 4wy + (—4)xe = 2
(—Dzo+ (1)1 + (—3)z20 = —6
(=9)zo + 621 + (—5)xe = —6
(=6)xg + 4z + 429 =0

S50+ (—1)z1 + (—2)z2 =4
(—Dzo + 621 + 1o =3
(—2)330 + (—10)$1 + 2z = =5
(=7)xo +4x1 + 922 =0

lzg+ (—1)x1 + (—1)ae = =9
6xo + 6x1 + (—8)x2 = —6
2xg + (—6)x1 + 4a2 = —2
2xo + (=5)z1 +4a2 = =9

8xg + 8x1 + (—2)xe = =5
(=9)zo + (—3)z1 + (—6)z2 =6
dxog + Tz + (—10)z2 =5
9z0 + lz1 + (—6)z2 = —1



21.

22.

23.

24.

25.

26.

27.

28.

9z + 8x1 + (—8)we =2
(=3)zg + 221 + lag = —1
Txo + (—5)wy =6

Txg + 621 + (—8).132 =3

6xg + Tx1 + 1lzo =0

6xg + 921 + 122 =6

6xo + (—2)z1 + 422 =0
(=9)xo + 921 + Hxe = =5

(=6)xo + (—1)z1 + 322 =2
2z9 + (=3)z1 + (—1)z2 = —4
S5xg + 1oy + (=3)ze = =7
dag+ (=7)x1 + (—9)ze = =10

8rg+ 7x1+ 1z =1

2z0 4+ (—10)zy + 422 =0
(—9)1‘0 +5x1 =7
(=7xo+ 1lxy + 7290 =9

8xo + 4x1 + (—4)z0 =4
(=)o + (—3)x1 + lag = —1
(=3)zo+ (—1)z1 =2

(—2)z1 + 929 = =5

(—2)xo + 322 =2

229+ 521 =6

dag + (—4)x1 + (—3)ze = =5
(=5)xo + 221 + 8x2 = —5H

3z 4 (—6)x1 + (—2)z3 =8
3xg 4+ dx1 + 222 =3

(=3)xg + 521 + (—2)a2 =7
(=Nxo+ (=3)z1 + (—6)z2 =2

920 + 221 + (—4)a2 = —1
(—10)zg + 9z2 =1

6xg + 621 + 1o =5
Txog+ 4z + (=3)z2 =7



29.

1.2

8xg +9x1 + 30 = —6

6x1 + (—2)zg = —4

1zg 4+ (—9)x1 + Txe = =7
(=5)zo + (—9)x1 + (—6)z2 =2

Cucremy ypaBHeHuii 4*4

1229 + (—8)x1 + (—1)zg =7

6x0 + 221 + (—6)x2 +3z3 =1
(=10)zo + (—1):E1 + 29 + 623 = 8
lzg + (—4)z1 + (—3)z2 + 10z3 = —15

(—=4)zo + 1321 + (—6)z0 = —8

6xo + 1oy + 220 + (—6)23 =0
(=Nxo + 1221 + (—9)x2 + 223 = 14
leg + (—=5)x1 + log + 223 = 14

8xo + 7wy + (—2)xe + (—4)x3 = —4
lzg 4+ (—=8)x1 + (—1)x2 + 12253 = 14
(—=9)z + (—12)21 + T3 = —2
(—=13)xzp + 521 + 322 + (—14)z3 = —10

(=5)xo + 1221 + 1023 + (—2)a3 = —15
lzg 4+ (—=8)xy + (—1)ae + (—3)z3 = —11
5z + (—4)z1 + 1520 + (—4)z3 = 10
3z + 6x1 + (—1)z2 + ldag = —4

1520 + (—3)z1 + (—3)x2 + (—2)23 = 15
(—4)zo + 13z1 + (—3)x2 + (—2)23 = —4
(=4)zo + 1221 + (—12)22 + (—10)z5 = —1
(=8)xzg + (—10)z1 + 1022 + (—8)z3 = 14

2xg 4+ 4dxo + (—14)x3 =6

5xzg 4+ (=3)x1 + T2 + (—2)z3 =0
14z + 1521 + (—1)zy = —14

11z 4+ (=6)x1 + 1lzg + (—=T)zs = 14

6xo + 1121 + (—2)xe + (—12)23 = —3
(=)o + 1daqy + (—12)ae + (—8)23 = —4
(=8)xo + (—4)x1 + (—12)z3 + 923 = 15
dzo + (—4)z1 + (—8)xo + 3w5 = 13



10.

11.

12.

13.

14.

15.

(—=15)zo + (—5)x1 + Txo + 323 =2
1zg + 921 + (=5)zg + (—T)z3 = —2
(=Nxo+ (—18)z1 + (—2)z5 =14
lzg 4 221 + (—4)2x0 = —13

3xg + 4x1 4+ 1529 + 623 = —8
(=1)xzo + 521 + 629 + 423 = —14
1529 + (—11)z1 + 1z + 623 = 12
(=B5)zo + 121 + (—2)x2 + (—15)2s =

1229 4+ (=9)xz2 + (—6)ax3 = —9
15$0+( 9)1‘2 ( )3:—15
(=10)zo + (=15)21 + (—=15)@2 + (—
(-1 )1—|—( 3)xg + 1323 =4

—12

).’1,‘3:8

(=2)zo + (=15)z1 + 1029 + (=3)23 = —1

8z0 + 1221 + (—10)22 + 1323 = —10
41’0 + 51’1 + 15.%2 + (*12)‘%3 = -7

(=9)z0 + (—8)z1 + (—2)z2 + 625 = —

(—7)‘%1 + 7.’E2 =7

(—2)xzo + (—15)x1 + 1322 + (—10)23 = —

8xg + (—8)1‘1 + (—7)1‘2 + 10x3 =4

(=5)zo + (=5)x1 + 922 + (—6)z5 = —3

(=2)zo + (—3)x1 + las + 1423 = —6
(—Dzo + (—14)z1 + (—9)z2 =0

dxo + 51 + (—15)z3 = 12

(—=8)zp + 621 = —6

lzg + 921 4+ 222 + (—15)553 =-7

(—=6)xo + (—4)x1 + 222 + 1023 = —14

leg + Txq + (—4).132 + (—3)33‘3 =7
(710).%0 + 8561 + (76)1‘2 + 11:63 = 2

(—3).730 + (—15)3?1 +2x5 + 1123 =8
933’() + 9171 + 15$2 + 7.703 =-1

(—11)530 + (—1)!171 + (—2)£E2 + (—7)%3

41‘0 + 113?1 + (—3)372 + 2.’1}3 =14

-2



16.

17.

18.

19.

20.

21.

22.

23.

(—2)zo + (—13)z1 + (—13)292 + 623 =1
5xg + 5x2 +8x3 =17

Txog 4+ 1121 + 1329 + (—8)z3 =6

4xg + 11 + 6290 = —9

6x0 4+ (—10)z1 + (—9)z2 = 14

10z + (—12)z1 + (—9)x2 + 223 = 12
(—6)zo + 1021 + 423 + 323 = —10
1229 + 1321 + 1o + 1123 =1

2z0 + (—2)z1 + (—6)z2 + 14z = 12
(—8)zp + (—3)1‘1 + 6z + 223 = —5
(—3)3’:0 + 921 + (—3)1‘2 + 5x3 = 10

920 + 6x1 + (—8)xa + 623 =1

(=T)wo + (—4)x1 + 323 = 15

1dag + (—2)a1 + (—15)2s + 423 = 15
Txo+ (—11)z1 + (—14)z9 + 923 = —12
(=9)zo + (—3)x1 + 1lz2 = —6

dxg + lag + 113 = —14

(—=6)zg + 121 + (=8)x2 + (=125 =7
1529 + (=10)x1 + (—6)xe + 1123 = —12
8x¢ + 91 + 3z2 + (—8)z3 = —15

(=4)xo + 1221 + 49 =4

(=5)xo + 11 + (—11)z2 + 1023 = —3
leg + (—10)z1 + (—4) a2 + 11zz =11
(=15)zg + 1z1 + (—9)as + (—T)2x3 =4

(—13)zo + 421 + 8x2 + (—14)x3 = 12
(=9)zo + (—6)x1 + 11las + 1123 = —6
9xg + 321 + (—9).133 =-9

(—=Dzo + 221 + (—2)x2 + (—3)z3 = —3

1321 + (—2)x2 + 1523 = —5

(—1)z1 + 622 + (—2)23 = 12

4z + 5x1 + 8xo + (—1)zg = —15
(=3)zo + 11 + 8x2 + (—3)xs = —11



24.

25.

26.

27.

28.

29.

30.

31.

(=3)zo + (—=3)x1 + (—1)ze = —15
(=8)zo + (—14)z1 + (—5)x3 =4

( 5)3?0 + ( ).’L‘1 + 5x0 +4x3 =1
(=10)xzp + 521 + 1325 + (—2)ax3 =7

(=14)zo + 321 + 3x2 + Tx3 =3

(—2)xzo + (—10)xy + 1022 + 1123 = —10
15x9 + lag + (=5)x3 = —12

(—=11)zo + (—11)zq + (—15)z2 + 323 = —8

1520 + (=3)x1 + (—9)z2 + (—14)zs =11
leg 4+ (—2)x1 +4a0 + 923 =7

(—5)3’:0 + (—9)332 +bx3 =4

13zg + (—11)zq + (—6)zy + (—2)x3 = —14

(=2)xo + (=3)z1 + (=1)22 + 323 =7
(=6)xo +4xy +4ao + Tx3 =3

(=2)xo + 1421 + (—12)a2 + 113 = =7
( 15 ).%'1 + 8x9 + 10x3 = —3

5z + 8x1 + (=5)xa + (—8)xz = —1
(=Dzo + 121 + (—6)ae = =3

S5x0 + (—=T)x1 + 8x2 + 923 = —14
(—12)z + 5xo + (—12)xz3 = 10

(=D)xo + 11z1 + (=3)x2 + (—T7)23 = 8
11ag + 721 + (—2)z2 + (—3)z3 = —2
(=2)z1 4+ 322+ 623 =8

3z + (=5)x1 + (—6)x2 + 223 =5

(=N zy + (—1)z2 + 823 = —2

lzg 4+ 221 + 1322 + 1023 =0

5xg + 3x1 + 6x2 + (—11)z3 =9

9z + (—15)z1 + (—4)z2 + 1023 = —8

1529 + (—8)x1 + (—6)x2 + (—15)zg = —2
(—4)z1 + (—15)z2 + 823 = 3

2z0 4+ (=11 + (—15)z + 625 = —4
2xg + 4x1 + 225 + 1523 = —15



32.

2.1

Pemuts cucrtemy ypaBaennit metosiom 2Kopgana-

(—14)zo + (—4)z1 + lao + (—4)z3 = —11
(=Nxo + (—11)zy + 1522 + 923 =9
(=12)zg + (—6)z1 + 229 + 423 =2

S5x0 + (—11)x1 + 1220 + (—=7)23 = 8

I'aycca

Cucremy ypaBHeHuii 3*5

1
1
1
1
1
1
1
1

929 + 1221 + 1729 + 323 + 1524 =0
8xg + 8x1 + 1625 + 1224 =0
6xg + 621 + 1229+ 924 =0

3xg + 12234+ 924 =0
9xg + 621 + 8z + 203 + 11y = 4
5xg9 + 3x1 + 4xo + 1223 + Ty = 2

20z + Tx1 + 1629 + 2423 + 2424 = 11
220 + 11 + 1zo 4+ 33 + 324 = 8
61’0 + 2171 + 5172 + 7£E3 + 7584 =1

Txg + 2221 + 1729 + 623 + 624 =9
41‘0 + 141‘1 + 9I2 —|— 2I3 —|— 2564 = 9
3xg + 8x1 + 8z + 4x3 + 424 =0

2xg + 6x1 + 14z9 + 1223 + 814 = 2
41’0 -+ 41’1 + 12$2 + 161’3 + 41’4 =0
2xg + 2x1 + 629 + 83 + 224 =0

433’() + 61’1 + 613 + 8%4 =1
12!1,'() + 14.’E1 + 1£C2 + 14!1,'3 + 18%4 =1
6xg + 921 + 923+ 12204 =6

20xg + 41 + 1629 + 1423+ 924 = 8
2820 4+ 8r1 + 209 + 2223 + 1524 = 14
16x¢ + 8x1 4+ 8xo + 1623 + 1224 = 12

6xg + 621 + 623 +8x4 =3
18x¢ + 1221 4+ 925 + 1823 4+ 1124 = 6
28xg + 2021 + 1225 4 28x3 + 2024 = 10



10.

11.

12.

13.

14.

15.

16.

17.

151‘0 + 14.’E1 + 51‘2 + 61’3 + 41‘4 =10
1529 4+ 8x1 + dxo + 1223 + 8x4 = 10
929 + 921 + 312 + 33 + 224 = 6

21’0 + 21’1 + 8%2 + 2(E3 + 8.’E4 = 7
lxg + 521 + 629 + 923 + 12204 = 8
8x1 + 4xo + 1623 + 1624 = 9

10170 + 11581 + 101‘2 + 1173 + 11‘4 = 11
16%0 + 16.’E1 + 161’2 + 2{E3 + 2(E4 =11
6xg + 51 + 629 + 13 + 124 =0

].OSCO + 5SU1 + 2.22 + 5$3 + 71’4 =2
8xg +4x1 + 223+ 624 =0
4xg + 221 + 4o + 63 + 224 = 4

1221 + 8x9 +4x3 =0
3xg + 10z + Tz + 223 + 424 =0
9xg + 1521 + 119 + 13 + 1224 =0

9xg + 14z + 8o + 223 + 624 = 0
Txg 4+ 12x1 + 4w + 623 + 814 =0
4330 + 81‘1 —|—8£173 +8£E4 =0

4xg + 8x1 + 1622 + 43 + 1224 = 8
Txo + 8x1 + 2829 + 1323 + 1224 = 14
61’0 + 61’1 + 24%2 + 129’]3 + 91’4 =12

6xg + 10x1 + 1029 + 1223 + 84 = 6
61’0 + 13131 + 12352 + 16:173 + 8174 = 6
929 + 1521 + 1529 + 18x3 + 1224 =9

81’0 + 161‘1 + 12:63 = 10
dxg + 1221 + 8x9 4+ 1023 + 8x4 = 4
8xrg + 2021 + 8xo + 1623 +8x4 =9

41’1 + 61’2 + 8(E3 + 4%4 =0
3xg 4+ 13x1 + 920 + 1723 + 1024 =8
3xg + 17x1 + 1529 + 2523 + 1424 = 8

10



— ——  —— —— —— —— —— —— —— —/—

6xg + 4x1 + 629 + 43 + 624 = 8
3xg 4+ 221 + 322 + 2203+ 324 =4
3rg + 221 + 3r9 + 2203 + 624 =9

9xg + 11x1 + 89 + 1723 + 2204 = 3
13z + 7x1 + 622 + 19235 + 424 = 3
11zg + 921 + 720 + 1823 + 324 = 3

12z9 + 621 4+ 923 + 624 = 3
5xg + 4x1 + 3T + 43 + Sy = 12
8xg +4x1 + 6x3 + 4wy = 2

17560 + 25$1 + 14.’1}2 + 121‘3 + 13.1?4 =12
S5xg + Tx1 + 420 + 43 + 424 =5
14:170 + 22581 + 121‘2 + 8173 + 10584 = 4

Txg + 1y + 1229 + Tz + 44 = 2
1029 4+ 221 + 1622 + 1023 + 84 = 4
11lzg + 321 + 1629 + 1123 + 12224 = 6

10xg + 1321 + 322 + 223 + 624 = 11
6xg + 7x1 + 1xo 4+ 223 + 424 = 13
8xg + 10z + 25 + 223 + x4 = 12

161‘0 —+ 125E1 —+ 181’2 + 16133 —+ 171‘4 = 1
24xy + 1621 + 2829 + 24x3 + 28x4 = 2
12,(60 + 4331 + 16.%‘2 + 12,’E3 + 19.’1,'4 =2

1229 + 8x1 + 8xo + 43 + 2024 = 2
9xg + Tx1 + 8o + 43 + 1924 = 8
3xg+3x1 +4x0 + 203+ 924 =7

6xg + 8x1 + 8xrs + 8xgz +4xy =8
8xg + 9x1 + 925 + 93 + 4y = 8
5xg + 10x1 + 10x9 + 10x3 + 624 = 12

Txo + 20z + 3z + 1523 + 15z, = 14
3xg + 8x1 + 1xo + Txs + 724 = 10
11’0 + 2171 + 31‘3 —+ 3134 = 8

11



28.

29.

30.

2.2

121‘0 + 12.’E1 + 18$2 + 15%3 + 3$4 =6
81'() + ].Ofﬁl + 16%2 + 16!1/'5 + 4(E4 =1
16560 + 14$1 + 20.’172 + 14373 + 2$4 =11

1229 + 621 + 922 + 623 =0
4xg + 621 + 322 + 323 + 314 = 13
16x¢ + 8x1 4+ 1225 + 8x3 =0

10xg + 621 + 822 + 43 + 8x4 = 4
Txo + 5x1 + Txe + 423 + Dy = 2
20xg + 1221 + 1629 + 8x3 + 1624 = 8

Cucremy ypaBueHuii 4*5

2xg + 221 + 229 4+ 923 + 424 =0

4o + 1321 4+ 10z9 + 1823 + 1424 =6
2xg + 221 4+ 229 + 1523 + 424 = 4
2xg + 5x1 + 4xo + 1223 + 624 = 4

3xg + Tx1 + 1022 + 623 + 1124 =0
13w + 71 + 24w + 2823 + 2524 =7
6xg + 13z + 2229 + 1923 + 2724 = 1
16xg + 1421 + 34z + 34x3 + 3624 =7

3xg+ Tx1 +4x0 + 323+ 924 = 1

3xg + 12x1 + 8z + 33 + 1224 = 4
201+ 1lxo + 324 =3

3xg + 17x1 + 1029 + 323 + 21z, = 13

10xg + 521 + 622 + 323 + 1204 =7
16xg + 1221 + 1223 4+ 1624 = 12
9r9 + 321 + 922 + 12204 = 6

3xg + 1x1 + 3x0 + 44 = 2

34xy + 28z + 18x9 + 20x3 + 2814 = 8
24xy + 20z + 1629 + 8x3 + 184 = 12
1629 + 14z + 8xo + 8x3 + 10z, = 14
16xg + 1321 + 1225 + 43 + 1324 =5

12



10.

11.

12.

13.

1229 + 1221 + 1629 + 423 + 12224 =0
10xg + 1021 + 1625 + 623 + 724 = 5
25z + 2221 + 3229 4+ 1923 + 1324 = 14
1o, +4x9 =2

Txo + 18x1 + bz + 2523 + 2224 =1
9xo + 921 + 32 + 723 + 824 = 10
1320 4+ 18z + dxo + 18x3 + 1724 = 12
1229 4+ 18z + 629 + 2123 + 2124 =9

18xg + 1421 + 1629 + 113 + 624 =5

30xg + 221 + 24x5 + 18z3 + 1224 = 12
34xo + 2621 + 2622 + 21x3 + 1424 = 13
36x¢ + 2821 + 3222 + 2223 + 1224 = 10

1529 4+ 621 + 1229 + 723 + 1724 = 10
5ro + 221 + 8xo + dxz + 11z, = 12
12x¢ + 621 4+ 1529 + 8x3 + 2524 = 11
13z + 621 + 1025 + b3 + 1724 = 2

28x0 + 2421 + 2520 + Txs + 21y =7
32xy + 281 + 28x9 + 8x3 + 2424 =0
8xg + 6x1 + 8xo + 223 + 624 = 14

36z + 311 + 3022 + 1523 + 2924 = 13

10xg + 1021 + Txo + 423 + 424 =1
1229 + 421 + 322 + 1223 + 1024 = 6
9xg 4+ 18z + 99 + 624 =0

28x¢ + 16x1 + 1629 + 1623 + 8x4 = 4

20zg + 1621 + 929 + 2923 4+ 1524 = 13
10xg + 621 + 322 + 1523 + 724 = 5
6xg + 16x1 + 1229 + 2023 + 1024 = 4
8xg + 17x1 + 1229 + 1623 + 1024 = 9

12z + 1621 + 1629 + 3223 + 1224 = 12
18z + 1921 + 229 + 2923 + 1524 = 13
1229 + 1321 + 1529 + 1723 + 1124 = 2
9xg + 14z + 1329 + 2823 + 11lxy = 4

13



14.

15.

16.

17.

18.

19.

20.

21.

1729 + 1321 + 18z + 1223 + 1624 = 11
dxg + 4x1 + 1729 + 923 + 2524 = 4

1929 + 1521 + 2825 + 1823 + 30z4 = 13
18xg + 14x1 + 325 + 24x3 + 3224 = 12

16xg + 30z + 1925 + 1623 + 2124 = 10
15x9 + 1721 + 1529 + 11x3 + 1624 = 1
8xg + 2811 + 1229 + 1223 + 1224 = 4
11zg + 1321 + 1229 + 923 + 1524 = 13

8xg + 6x1 + 920 + 93 + 204 = 4

1629 + 18x1 + 9x2 + 2523 + 1824 = 14
6xg + 421 4+ 8x9 + 8x3 + 224 = 2

8xg + 12x1 + 1623 + 1624 = 10

lezg + 421 + 229 + 323+ 1y, =5

Txo + 1221 + 1022 + dx3 + 924 =7
9xg + 2811 + 2229 + 1723+ 1124 =9
14z + 3221 + 28x9 + 1623 + 1824 =6

32z + 1621 + 2425 4+ 2023 + 814 = 9
24xg + 14xq + 1622 + 1823 + 4x4 = 10
1229 4 621 + 1022 + 1023 + 424 = 4
32z + 1221 + 2425 + 423+ 8x4 =0

1529 + 1121 + 629 + 923 + 424 = 12
21xg + 1521 + 629 + 1523 + 624 = 6
18x¢ + 1321 4+ 622 + 1223 + 52y = 9
4rg + 3x1 + 222 + 223+ 1wy =5

dxg + 221 + 8xs + 223 + 8x4 =1

Tro + 921 + 2029 + 923 + 1824 = 7
4xg + 8x1 + 1615 + 1623 + 8x4 = 4
6xg + 7x1 + 1625 + Sx3 + 1624 = 6

8xg + 2x1 + Txo + 113 + 824 = 14
1029 4+ 421 + 5o + 1023 + 44 = 11
6xg + 8x1 + 3z + 4a3 + 624 = 2
1229 + 1621 + 625 + 83 + 12204 = 4
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22.

23.

24.

25.

26.

27.

28.

29.

1229 4+ 321 + 1922 + 10z3 + 2024 = 12
6xg + 3x1 + 11xs + 823 + 1224 = 12
9xg + 1229 4+ 323 + 12204 =0

9xg + 3x1 + 1329 + Sz + 14x4 = 4

6z + 321 + 1223 = 12

29 + 1lxy +4x3 =4

1529 + 421 + 3z2 + 1023 4+ 2024 = 8
1629 4+ 8x1 + 1ao + 1623 + 1624 = 6

6xg + 24z + 3229 + 143 + 1024 = 9
5xg + 14z + 2429 + 1323 + 1124 = 6
Txg+ 17z + 2829 + 1523 + 112y = 6
8xg + 10x1 + 2429 + 1623 + 1224 = 3

18xg + 11x1 + 8xo + Tx3 + 624 = 11
920 + dx1 + 225 + 43 + 64 =
3xg + 221 + 220+ 123 =3

2xg + 10z + 929 + 1023 + 224 = 6

[\)

3xg 4+ 16x1 + 1929 + 1323 + 1724 = 14
8xg + 22x1 + 209 + 1023 + 1224 = 3
Txg + 11z + 1329 + 1423 + 1524 = 9
dxg + 4xo + 1223 + 1224 = 10

20xg + 8x1 + 119 + 623 + T4 = 13
36xg + 91 + 1629 + 923 + 1324 =8
28x9 4+ 91 + 14x5 + 923 + 1124 = 10
28x9 4+ 5x1 + 11xg + 623 + 1024 = 1

dxg + 81 + 929 + 1223 + 1424 =8
Txo + 14z + Txo + 1423 + 814 =9
9xg + 18z + 1829 + 2223 + 1424 =1
10xg + 2021 + 1729 + 2423 + 1824, =9

23xy + 15z1 + 1029 + 1923 + T2y = 8
18xg + 11x1 + dxo + 1723 + 124 = 4
13zg + 8x1 + 722 + 10x3 + 624 = 5
20x¢ + 20z + 1229 + 1223 + 1224 = 14
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30.

6xg + 10z 4+ 1329 + 2123+ 324 =3
16z + 1321 + 259 + 2323 + 1224 = 13
6xg + 7x1 4+ 10z + 1223 + 324 = 12
6xg + 5x1 + 920 + 8x3 +4x4 =9
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